@ Year 3 Week 27 - Homework Name

Fruit basket -

1789 l14g 216g 186g 3059 3769 I151g 2259

Choose three different pieces of fruit to go in each basket so that the
total weight of the fruit is within the range. Use column addition to
find each total.
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A cyclist has cycled 500 miles in five days to raise money

for a charity. Work out how far she cycled each day
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@ Year 3 Week 27 - Homework

Subtraction challenge!

o If you could only use Frog to work out two of these

subtractions, which two would you choose? Circle them.

621 — 579

458 - 320 536 -405 738-665 523-199

Show how you would work out the other three subtractions.
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